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General Instructions :

1.
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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

2. All questions are compulsory
3.
4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

All questions of Section-A and all questions of Section-B are to be attempted separately.

one word or in one sentence

. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered

in about 30 words each.

Question numbers 7 to 18 in Sectiun-A are three marks questions. These are to be
answered in about 50 words each

. Question numbers 19 to 24 in Section-A are five marks questions. These are to be

answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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-3 / SECTION-A

1 39 FifvrRt sing w1 9 fafay faad graede 71 fowst @E Sdarmes, od sk s A dms 1

Name the cell organelle in which breakdown of pyruvate to give carbon dioxide, water and
energy takes place.

2 forelt =T o Ser=t ST o T SO R WS I faaR v, e S ] i e e F 1
w1y fafan

Write relation between heat energy produced in a conductor when a potential difference V is
applied across its terminals and a current I flows through it for time t. H = ‘II b

3 i faerd Ha=t | B AT Sl SRR & QS T R
List two steps of energy transformation that take placein a thermal power plant.
ool > ;W > b Lk

4 TR & Tt vt sfufemed = dyfae vt wisol F v ¥ fafae
() i Srefeurs Wt Ygfuf aoi % w aw e s g
(i) EE R Y F 7L YT fm w2

Translate the following reactions into balanced chemical equations :

(i) Manganese dioxide is heated with aluminium powder. ﬂ\ N O l-illm [ —-QEH ‘ 20 31‘ Wn
(i)  Iron is treated with steam. J .'\:e . BH')\O P Y F C.zo 3 4_3“_‘[ ) 1\

5 afebr e %1 Tt T fafew 9% fio & fog dgfaa tarte aiem fafay w2
YA Fi Feord HIfAT |

Write the chemical name of baking soda.
preparation. Mention its one use. NBH (‘03

Mﬁb Na(l“- NH?) '\‘(OL‘}‘ H30 —DNH(' 0 4 Mw)

Write balanced chemical equation for its
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6 simie (farw) | s ad 22 aﬁnmﬁwﬁaﬁmﬁﬁymﬂﬁaﬁm%? ' 2

What is synapse ? How does a message of an impulse transmit through a synapse ?

7 ﬁﬁnﬁaﬁmﬁﬁmwwﬁmmmm:
(i) Zn+H,504 - ZnSO4 + H,

{i)  Ca0+H,0 - Ca(OH),

()  CaCO; —=2 5 CaO +CO,

Identify the type of reactions in each of the following reactions :

(i) Zn+H;50,4 - ZnSO, +H, AJ/){\QW/MN

i) Ca0+H,0 - CaOH), (Qymbvwd Al

’ 1
(i) CacOy —H2% , ca0+c0, Jhv! ,AW’YWW-""

8 ﬁmﬂmaﬁmﬁaﬁwﬁmﬁﬁmmmﬁ%mmlm&aﬁfwmmma
EHECER SR E R B E o R )
b

Mention the products produced when an acid reacts with a base. Give equation of an example of the

reaction involved. What is this kind of reaction known as ? /nd o, ! ;

-9 = el % fore v R
(a) 1 Hfewaw o 7 sren v € D o5 9@ A goe WIS @

{b) 3 Id § st Der e =1 var 9@ @

(c) W(ﬁm)ﬁ&@h@aﬁqﬁzﬂiﬁhﬁmm%m%mmqﬁﬁwm
HH ¥

State reason for the following statements :
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(a) When calcium is dropped in water, it starts floating on the surface of water. H 2 % $ Excelenc
L]

[} \
{b) lonic compounds in the solid state do not conduct electricity. &\U’M W Wb

{c) Carbon (coke) cannot be used to reduce aluminium oxide to metal.

10 mﬂﬁﬂﬁaﬁzﬁtmwﬁgﬁuﬁﬁam%%mﬁmaﬁmgﬁt WHERMRGPEF 3
: mmmﬁmuﬁfﬁmmﬁgﬁamﬁﬁﬁm

List two observations that determine that a chemical reaction has taken place along with
corresponding balanced chemical equations for the justification of each observation.

11 w%qﬁaﬁﬂaﬁﬁmmanmaﬂ@mfaﬁaﬁ:

w

(@ TR () o ©

Write one function of e ch of the following conponents of the transport system in human
beings :

(a) Blood vessels (b). Lymph (¢) Heart

12 (@) Wi e R e G fafa

3
(b) mﬁﬁqgﬁﬁmsﬁaﬁﬁuﬁmﬁmﬁmﬁ%maﬁmﬁﬁﬁmﬁHﬁwﬁﬁl
(@)  Mention any four reflex actions of the body.
(b) Draw a flow diagram of reflex arc illustrating the sequence of events which occur
when we withdraw our hand on being pricked by a pin.
13 SR e § Fra ) sy fafed 3

(G T (i) TrowRE (i)
State the function of the following in the alimentary canal :

(i)  Liver (i)  Gallbladder (i) Villi
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14 ﬁsﬁﬁqar%aiizfafqanémzlhmﬁﬁsﬁ%ﬁg.&waﬁﬁﬁmwmmﬁ%ﬁﬂ%%@wé“
s 9 el st faeg B O @ § Tohe T w6 20 9 ¥ fag A ot B F e favar
Fifou) afz s sA A FAA D B % Tl g, A e S aven s e @m e

In an electric field the work done in bringing a 2 coulomb charge from infinity to a point A is
10 joules and in bringing the same charge to some another point B is 20 joules. Find the
potential difference between two points A and B. What would be the work done if the same
charge is brought directly from A to B?

15 qa:rﬂﬁmmﬁm%mﬁ@tqmﬂﬁﬂaﬁ%@ﬁ@ﬁzﬁﬁﬁ&(mﬁaﬁuﬁafmm 3
fafia @@ 2 '
() o d gl
(i) T ¥ e W

Draw the pattern of magnetic field lines around a current carrying straight conductor. How
does the strength of the magnetic field produced change :
(i) with the distance from the conductor

(ii) with an increase in current in a conductor

16 mﬁ@m%m%m%ﬂzwﬁ%fm@mmaﬁ#aﬂﬁmﬁﬁw

wmﬁmwﬁm@mmmwwmaﬁmﬂwmmﬁm%l

With the help of a diagram of experimental set up describe an activity to show that the force

acting on a current carrying conductor placed in a magnetic field increases with increase in
field strength.

17 ﬁmam—-ﬁu@%‘u{ﬁaﬁwﬁﬁmmﬁﬁmﬁwwmamﬁ@ﬁmmw&méa‘
?ﬂqatwﬁmw:{{amﬂmﬁa‘faﬁﬁamﬁmﬁﬁmﬁﬂﬁaw—gimm%%sma@
ITF FA R siE T IR fp TE AR A F A TN H TS GRS SHh T
f 1 1A X T T T a7 g farwreft 301 o=@ 0 |

¥ e vl ¥ o fefa
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(i)  fan A faseh w=m % fae sme & fFma?

Giy 2 fafial fafay foas g faeeh s=r o usd }

(i) T & il § 3uF FES T yoafia e) ¥

Ria visited her aunt’s house and observed that all the tube lights and fans in her house were
switched on without any need. She switched off all the lights and fans which were not in use
but was scolded by her aunt for doing so. She then explained her aunt about the need to save
electricity. Later, Ria’s aunt promised her that she will now save electricity. Now answer the
following questions :

(i) Why did Ria insist on saving electricity ?

(i)  State two ways by which electricity can be saved.

(iii)  Which values of Ria are reflected in her actions?

" T O 399 399 €1 §9 F9 & geA § @ Fnv fefea) s @ e smna snat vt
w= dfed faf@u)

Biogas is an excellent fuel. Justify the statement by giving two reasons. Mention the mass
constituent of biogas along with its percentage.

19 () ot At F wrd QMmoo afza wemEd

(b) fqﬁ-&ﬁamgaﬁéamﬁﬁ@ﬁaiwmﬁwamwwﬁrqﬁmﬁ%l sifufrm
siee 1 g et ¥ €72

(c)  fuferar SEen § 3= T W UK S awell angedl A1 3% st o w1k gr ervams
Te1 v o s weem 1w fefa)

{a)  Explain any two physical properties »f ionic compounds giving reason,

(b)  List any two metals found in free state in earth's crust. Where are they located in
activity series ?

() Metals towards the top of the activity series can not be obtained from their compounds
by reducing with carbon. Why ?
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20 (a) 79 9 HROT AW U AHART ;
() i s A IEe W EE B
(i) S EERe & frwe &1 e @ T @ W @ W |
(i) T B WA 4R-¥R v B fremw =i A i w@ A s A
(b) S ¥ SNA Tn SRE § drgr qwn Stem A fRe TR gen u e €2
(a)  Explain the following giving reason :
()  Tartaric acid is a component of baking powder.
(i)  Blue colour of copper sulphate crystals disappears on heating,.

(i)  The acid must always be added slowly to water but not water to acid.

~ (b) How can we get rid of pain and irritation in our stomach during indigestion ?

21 (a) W o s fafe el gis g w dw &

5
(i) 9™ (ii) 9=H
(b) U UREY H TR FH@ § uviEd F R/ guS fowfad 91 W & g 4 @A Al
Tl @ wet wehn fafew) efeim ol nfa & wer 1w fafau
(a) Name one organ where growth hormone is synthesised in:
(i) man (ii) plant.
(b)  List the sequence of events that occur when a plant is exposed to unidirectional light,
leading to bending of a growing shoot. Also name the hormone and the type of movement.
22 @ 2 fegs % e fam favaiat sfonfva St

(b) = fae favaim stfew e afcn af @2 1 e favaie 1 a2 ared @2
(a) Define electric potential difference between two points.

(b}  Is electric potential difference a scalar or vector quantity ? What do you mean by a
potential difference of 1 volt ?

23 (a) = st R v w F < gus faep wfvy, ow 5= via st afel & fag i s
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(b) ‘Fam"ta’@qﬁwﬁsAmﬁwwm%iwqﬁwﬁmw;mvm%
fir oo FrITE & Q3T R o ERd #7 o s 1 gt i

(a) Explain why there are two separate circuits one for high power rating appliances and
the other for low power rating appliances. :

(b) A domestic circuit has a 5 A fuse. How many bulbs of rating 100 W; 220 V can be
safely used in this circuit ? Justify your answer.

24 aﬁémg@naﬁémmwﬁ?ﬁzm%aaﬁmmﬁnmqmﬁqamz_mm% 5
mmw%wmmmamw/mm%xmmwmmwﬁi
B yuguw €1
1| R fog e vl & I e
(i) =% BT F41 V&0 B & 2 S I ) AR % A st gt
(id) dire-Xa T4 v ¥ Yot ¥ wi oafien @ W €2
(i) T ¥ fodd T Te-XaA 1 SHEg w i T w?
A student fixes a sheet of white paper on a drawing board. He places a bar magnet in the
centre of it. He sprinkles some iron filings uniformly around the bar magnet. Then he taps
the board gently.
Now answer the following questions :
(i) What does the student observe ? Draw a diagram to illustrate your answer.
(ii) Why do the iron filings arrange in such a pattern ?
(i)  What does the crowding of the iron filings at the ends of the magnet indicate ?

“J-&/SECTION - B

25 <7 F 9 @ A, B alRC @ o s o WRiEE e, 7Y Wifean wRge FEEz 1
faera olt =« ®1 ﬁﬁpHﬁq{?&ﬁﬁﬂtmﬁ‘}mﬁﬁmﬁﬁprmAﬁwﬁﬁ, B ien
C e A RE uﬁﬁpﬁﬁﬁa@ﬂqﬁ#mﬁmﬁ%fmmawmﬁvﬁim@w
B \
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(@ CAB (b) ACB

c A B, C d B.C A

© (d) WNabl CO
Joy was given three test A, B and C containing dil. ethanoic acid, dil. sodium hydrogen

carbonate solution and water respectively. On dipping pH papers in them, Joy observed that
colour of pH paper turned orange in test-tube A, blue in test-tube B and green in test-tube C.
If the test tubes are arranged in increasing order of their pH, the correct sequence of the test

tubes would be :
(@) CAB ® ACH ’
(9 A/BC : U~ BCA

26 i1 fail =t wrrge 2fEd *

ms‘ﬁa‘;iaﬁ o wfsTw ;lﬁfms
(@ ()1 pHER (1) AET() ¥ pH F afuw T
(b) () T pH T (1) T (1) § F ¥

() (1), {11), (i) T pH 7 SR &1

(d) ()T pH T (1) [T (1) F pH & fereh 71

Observe the following figures :

.....

; i
Hydrochloric acid  Sodium hydroxide Water

Choose the correct option :

(a) pH value of (1) is greater than pH of {I1} and (1lI)

Page 9of 16

http://jsuniltutorial .weebly.com/

Scanned by CamScanner



Visitor contribution

(b) pH value of (I} is greater than pH of (1) and (1!}
{c) pH value of (1), (1) and (1) is equal

\)d-)/ pH value of (It} is greater than pH of (1) and (11}

27 anwrﬁP,QRams%ﬁmufgmaam@aﬁhﬁmmﬁumqﬁaﬁaxﬁqmaﬁaﬂwm 1
ey | <R o g, ST T eyl i RS

! &gy l

\mﬁaﬂémw S g R0 ﬂnﬁamsﬁamj

F T e e F! g @+ & ma\
Q o o W e % |

ST \
R Frt qen TR T et ll
sr A e CIRIC] W STl /S j
o T S A §, e R

@ P ®»w Q@ © R @ S

Four students P, Q, R _and S studied the chemical reactions between zinc metal and dil
hydrochloric acid. They recorded their observation as given in the table: ’

[Student | Observations
Colour of the gas | Smell of the gas | Combustibility test
liberated liberated of the gas
P Brown Like rotten egg Burns with pop
\ sound J
Q Colourless Odourless Burns with pop\
sound

J
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R Pale yellow Odourless Does not burn
S Colourless Pungent smell Burns with red
' flame

The right set of observations is that of student.

@ P B Q (©© R (d) s

28 A el § = waAfeat i W § T P fie faems il § v faem w or a2
faar &1 ﬁﬁﬂfamﬁ;nsmmﬁwm?

TréE

(a) (b) © (d)

Shown below are four test tubes containing different solutions. Colour of each solution is
indicated against each. Which one contains ZnSO4 solution ?

"{; S0
G H
green b i1 , ,fé{g blue colourless 0,(, )
: !
@ () (©) [ @

29 A - Fiw aethe F A faerm & Uit @ o SRt s o wR sed e 9 dera 1
TR € @ e e el & ww o dam e

()  + arfufwm wd g
(i)  ffran g8 oIk Yqfafem wede s m
(i) &=, tgfafrm o) srten stfus wfisa )
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(iv) Uefufam, 6@ =t oiten stfv wleg §)
e e €

(@ @) @) ‘ (b (i), (iii)

() (i), (iv) \AG (@D @w)

Betty added Aluminium metal to colourless solution of Zinc sulphate. After half an hour the

solution was observed. It was colourless. She recorded her observations in the following
statements.

(i) No reaction occurred

(i)  Reaction occurred and aluminium sulphate was formed
(i)  Zinc is more reactive than aluminium.

(iv)  Aluminium is more réactive than zinc.

Tue correct observations .re :

@ (i) (i) (b) (i), (iii)
(@ (i), (iv) (d) (i), (iv)

30 Joiisea § daifaa @ sl +1 g9 vy 90 0 & o o o 3 @ vy s R feu 1
afigdl # Yriet &1 HEl TggiE §

(a) Sfug1H10AAMINO0IA
() SR URwAIawIE1.0A

€ IREEIFHQIATINF10A
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(d CAidfEiiamndol A

To determine the equivalent resistance of two resistors connected in series, a student prepared
two electric circuits, correct reading of ammeter in the circuits is :

@ @~
10 350
L A= AAAA PN ANAA

e 350 10 =
s T +

) PHFE—C)
45V  Key 45V  Key

M : I

(a) Incircuitl, 10 AandinIl, 0.1 A
\(py~  Inbothcircuits [and 11, 1.0 A
() Incircuit], 0.1 Aandin I, 1.0 A

(d)  Inbothcircuitsland I, 0.1 A

31 T U yiady & viadius! ) f&6g P,QR & v R K3 wu faaar Sirer wn 71 fom < fagall 1
& Tyl gFam o, 3 -

P
Q R
(@) P3RQ
(b) Q3R
(0 P#RR

() QRTWMPIRR AW

Six equal resistances are connected between points P,Q and R as shown in figure. Then the net
resistance will be minimum between :
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Q R

@ PandQ

() QandR
Pand R

(d) Bothbetween Q& Rand P & R

32 il AureT fd, OriEe T 9 R o0 R A F W W wE 1 adam w5 o 1

AT TR TERTE W GO | 3 Y 9% & T dn
(@) TR

(b) TEEA TE @ L

(© I0 faa Hge W Tie WO

(d) THR I F @ R

On a cloudy day, a plant leaf was plucked in the evening and tested for starch. It gave a
negative iodine test. The reason is that the plant is

{a) dead 2
(b) ot respiring X~
(c)/” at compensation point throughout the day

(d) photosynthesizing 4
33 ‘vaEa ¥ O CO, St A €' <o ¥ A2 o U spi e F wy v oS d el § 1
KOH % 4r&! ot 7 &1 T8 1 35290 8 ¢

(@)  Sisil @ it 1 eIl FH I b I

Page 14 of 16

http://jsuniltutorial .weebly.com/

Scanned by CamScanner



Visitor contribution

(b)  TIF W A B WY w1

(c) c&amamammﬁaﬁﬁmﬁahwml

(d) SFRE N =i = 0, v

(@) to absorb water from the seeds to make them dry

(b)  to make the air in the flask warm

\9/ to absorb CO; and create partial vacuum in the flask.

(d)  to provide O; to the germinating seeds

34 (i) ﬁmqﬁgqeﬁﬁ'mﬂﬁamﬁmaﬁﬁﬁmmrmmm%aﬁmmﬁm@fwam 2

(i) mm%&eﬁﬁﬂmmmﬁwﬁm

ﬁqﬁmaﬂf?ﬁmaﬂammm%ﬁm

mﬁ@m,m%iwrmmmmmmﬁaﬁam

(i) While studying the combination
product formed and write its colour,

(i)  While studying the decomposition reaction
test-tube, a product is formed in the test-tube, N

reaction on adding water to quick lime, name the

by heating ferrous sulphate crystals in a
ame the product and write its colour,

35 mmmemem?

How will you calculate the least count of a voltmeter ?

36 tﬁﬁmmwﬁﬁ%ﬁ%mmﬁﬁmmﬁﬁmﬁm\m@l

(i) mﬁﬁa}wmaﬂw@mwmmﬁﬁha

(i) e i e B ey A g
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(i) i Rt e WU g Rewdn = e
(iv) e g & A= M T
RS ERELEHECRE IR LS TR

Ravi followed the following procedure for staining

the temporary mount of leal peel on the
slide.

i (i) To put a single drop of stain on leaf peel and wacsh it with water.
? (i)  Cover the leaf peel with cover slip.

(i)  To puta single arop of glycerine on leaf peel.

(iv)  observe the slide under microscope.

But the steps are not in order. What should be the correct sequence ?

-0000000-
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